Y2 — Spring — Block 1 — Step 5 — Make the same amount Answers

Question Answer

multiple possible answers, e.g.
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b) Other ways include:
50p, 10p, 5p, 5p
20p, 10p 10p, 10p 10p, 10p
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Y2 — Spring — Block 1 — Step 5 — Make the same amount Answers (continued)

Question Answer

a) possible answers:
£20, £10
£20, £5, £5
£10, £10, £10
£10, £10, £5, £5
£10, £5, £5, £5, £5
£5, £5, £5, £5, £5, £5
b) 2
£20, £10
c) 6
£5, £5, £5, £5, £5, £5

multiple possible answers, e.g.
£2,£2,50p, 1p
£1, £1, 50p, 50p, 50p, 50p, 20p, 20p, 10p, 1p

a) 80p

b) 50p, 20p 10p

c) possible answers:
£100 and 80p
£70 and 80p
£60 and 80p

6 £55 and 80p

£40 and 80p
£30 and 80p
£20 and 80p
£15 and 80p
£10 and 80p




